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Time : 3 Hours] |Max. Marks : 70

Instructions : (1) Show necessary caleulations as a part of your answer.

(2) Figures on the right hand side indicates the marks of the question.

(3) Provide Graph paper as per demand.

s

; s
Sales 20000 30,000
Profit 7,200 13,200

You are required to calculate the Iullmwng. assuming that the hwd costs remain
constant during each of the half year : '

(a) The P/V ratio, fixed cost, break-even point and margin of safety for first haif,

second halfand for the whole year.
(b) The amount of profit / loss when sales for the year are 2 60,000,
(¢) The amount of sales rﬁquiicd to earn a profit of T 59,040.
(Id} The amount nf sales required to earn a pml‘t of Iﬂ% on sales.

The amount nt pmht tor the yt.nr ‘?{Hﬁ nssumum= annupntcd 10% mv..reaa:. in

(e)
selling price but 20% decrease in physical sales- volume and fixed costs.
OR
7 PT.O:
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. "The fixed COsts are 2 3,60,000 per year

-‘“}' com
pany.-has G
. production capacity of 2,00,000 uni per year, Normal capacity

T
)0%, standurd variable production costs are 2 11 per unit,

» variable selling costs are 23 per unit and fixed
year, The unit selling price is 2 20. In the year just
June, the production was 160,000 units and sales were 1,50,000 units.

Tl ing i its, T
1e closing inventory was 20,000 units. The actual variable production costs for the
year were 2 35,000 higher than standard,

selling costs are 2 2,70,000 per
ended on 30"

Calculate the profit for the year :

(@) by the Absorption costing method
(b) by the Marginal costing method

Also explain the difference in the profit.

Best Guijarat Limited is producing three products A, B and C. The data for the three

products is given below : . 14
Particulars A _ :_._.,,;;..»"E"* T C i I
- Maximum capacity (units) 5000 2000 .. . 3000
" Direct Material @ Z 10 per kg ) 40 0 0
Other variable costs (2) 3625 10
Selling price (%) 100 50 60 .
Fixed cost (unavoidable) {i'!j : 20,000 15,000 10,000

Calculate the best product mix in each of the following three independent cases :

. (i) Total avai!aﬁility of raw materials is limited to 18,000 kg,

(i) .UndEr a trade agreement the firm cannot produce more than 7,500 units of the

three products taken together.

(iii) Total sales value of three pmducts cannot exceed ¥ 6,50, 000,

Give cnmplctc working showing cnntnbulmn and total profit.

: " OR
8

MK



Gaurang Lumt |

i ed has two products A and B. To prnducL one unit of A; 2 units of

naterials e i
and 4 units of materials Y are required. To produce one unit of B, 3 units of

material 2 "
X and 2 units of material Y are required. As ﬂ‘iL raw material X is in shor

suppl
PPy so not more than 16 units of m'ltermls X is not avmluhle W

hile minimum 16
.units of material Y must be used i

in order to meet the committed production of A and B.
Cost per unit of material X and material Y are Z 2.50 :u1d 2 0.25 respectively. The

selling price per unit of A and B are¥ 12and 2 16 respectwely You are required :

() To formulate mathcmatical model.

(i)  Undertake calculation of maximum contribution with the help of Graph.

3. . PMT & Co. has a capacity to produce 10,000 units of product A in a month. The sales

department gives the following schedule of sale prices : . 14
- Volume of Production ; i .-Slelling price per unit
n"b.* S '- J 'i-: oo _ 2080
B T e e IR
T A Z0.65
0% - %058
C100% L z0s3

The variable cost of prodlrlli.:ftinn be!weg;i these levels isZ0.12 per unit and fixed cost is

(1)  Prepare a siatemcht shnwinél incremental ‘income and diﬁ‘ét‘éﬁti:ﬂ.cnst of each
stage. oo Beeanbum i

T (2)  Atwhat volume of output will the profit be maximum ?:

(3) If there is a bulk offer at 2 0.4{1. per unit for the ‘mﬁaiﬁiﬁg tiifp’acity over the
“’“"i'““!"-rlmﬁt volume for cxpoi't'_aind the quoted price does not affcct_ the
i“m”‘“';‘“ﬂﬂs, will you accept this bid and why 7 .

: o :
MK-103 |



.Ex plain the following demsmns with

(1} Mnkc or buy demsmn

illustrations -

s _.Shut down decision

Write !_\Intes on : (any two)

(1)  Difference between

*Traditional Purclmsc and *JIT Purchase".

(2) Llﬁ:—«cyclc of a product - stap ges.

(3) Target costing

Select the correct answer from given choices :

(1) Budgeted output minus break-even output gives us the ;

(a) Budgeted pmﬁt- . (b) Maximum profit snlutic;n
(c) Contribution ' {d) -Murgin of safety
(2} In break-cven analysis weassumez= - %00 B Y i

(a) Non-linear r:lla'l.i;m;hip
(b} Diminishing ;‘e-tﬁms to the variable factors of production
(c) Nnn'pmpoﬁinnal relationships
(d) Linear relationships -
(3) What can we derive by using the following formula ?

Total Fixed Costs
‘ Contribution Per Unit

- '(a}. Margin of safety (b) Budgeted output

| {(¢) ~ Budgeted profit (d) Break- Even output

(4]' 'Thr: idea about tﬂl‘bﬂ cnstll'lg ungl nated &

('aj Japan gy 5 ' : (b} UK {En.l,!und]
(©) UsA @ 1o
- i | 10

--r;a__ -

14

14



(5)  Target Costing is based on:

@ Market price of product (b) Actual cost of pmﬂUﬂ
(¢)  Historical cost (d) None of these

(6). When material (kgs) is a key factor, profitability of a product is decided on which
of the following basis 2 L : .

(a)  Cotribution per kilogram (b) Contribution p;:r unit | ¢
(¢) Variable cost per unit " (d) Noneof these. .

(7) For manufacturing products X and Y by a machine, requires 2 hours'and 4 hours

pr:r unit respectively. If there are only [000 hours available, which of the

ol f'ﬂllmung, is correet ? LR e
@ 2w+dy<1000 © . (b)) 2x+4y=1000 . .l .-

(@ 204392100008 oy () Noneoftheses . o
(8) A company mariufactures & single product with a variable G per uhit 66T 110+
The p/v ratio is 45%. Monthly fixed costs are 2.9,90,0004,What.is.the break-even

point {in units) ? - 1 sl ey unaie
| (a)' 20, 000 ;- | N (0 I,IJI.*QQ-.~:.;I-;:=..-._q.:_1.,.l.=1-'
() 30,000 H i Ad)n8.000 e
(9)° The fo]l-owing forecasts relatesl to a.s'ing_lé pmdqcf business for.a period : i
. Variablle - SRR & 7 RS EPUR % e s
Fixedcosts RS LA e
Sales ré;renu_e: I % : - ?I'Blti,ﬂ:ﬂﬂ : I..I :r
R - '. -zcls,uun !

- What salcs revenue is required t6 achieve a profit of 2 12,000 in a period 7

@ ¥1,129%0 - - (b): ¥96,250
. © Tmpo . T @) 290615 - .
- MK-103 o 5 R g i R T T




(10 % : ;
) A fiom makes a single product. A budget have been e for e year diead
a inc . 3
nd include production and sales of 60,000 units with a break-even point.of 45000

units, What is the margin of safety ratio ?

fa) .33% | ®)  25%

© 7% | (@ 100%

| : £ - '

(11) Budgeted sales of a company’s single product in a period are 20,000 units,
producing a total contribution of Z 1,80,000 at a selling price of 24 per unit.
legd costs are T 6 per unit based on the budget sales quantity.

‘What is the budgeted variable cost per unit ?
Ay I e e ' (b)y 9
() %15 : (d) %18

(12) JIT is developéd in
{a) Am&i:a ' L - (b) England
{c) Japan:. . " (dy India

& i

(13) When pmducti{:-n" variable andﬁxeddosfﬁre included "iﬁ?'cii;s'i accounts; is known’

as e _
(@ Marginal ch;ting - (b) Standard costing’
(c) Absorption costing'.. ' (d) Noneofthese

(14) MRP-I1is __-.
(a) A Traditional Approach .

| (b) An Intﬂdepaﬁméntal Approach
) A production scheduling _Appmach

(d) Noneofthese




